( Keywords )

{cosnx} (n=1,2,3,....) {sinnx} (n=1,2,3,....)
Grapes
{cosnx}
Fig.1(a) (b) A ={xyo<x<m-1<y<1
y =C,(x) = cosnx
@ ®

Fig.l y=cosnx(0<x<m,—1<y<1])
(@n=12,..5 (b)n=12..,20

Fig.1(b) A
C. C

m n

1<m<n C,.(x)—C.(x)



cosnx—cosmx=20

sin? My sin =My — o
0<x<nm
a, = 2jm o1 ,n+m]
n—4+m 2
b, — 2k K=l n—m—ll
n—m 2
a, n(@;) b n(b,)
Table 1
Tablel A
n(a;) n(b,) n(a;)+n(b,)
n m _
n+m_|_1 n m_1 0
even 2 2
n m —
n+m_|_1 n m_1 0
odd 2 2
n even — —m_
n+m 1+1 n—m-1 0
m odd 2 2
n odd — —m_
n+m 1le n—m-1 0
m even 2 2
n
A

mC,(a;)+nC,(a;)=0
mC, (b,) —nC, (b)) =0

proof

mC,(a;)+nC,(a;) = m[—nsin 217m]Jrn[—msin
n+m

Zij]
n+m



[ . 2jmn . ZjWﬁq
=-—mn{SIN———+SIn———
n+m n+m

— —2mnsin j7rcosM
n+m
=0
ZkWn] [ . 2kmm
—n|—msin
n—m n+m
[. 2kmn . 2kwm]
=—2mn|sin —Sin
n—m

mC, (b,)—nC_(b)= m[—n sin

n—m
Ko+ M) Ginkr

|

= —mncos —
=0
g.e.d.
(xCo(x) A C, G, Co()CH (X)) =0
proof
C,(x)C,(x)=0 C. G,
C,(9)=C,(x)=0
C,(x)=C, (x)==1
(x,C, () A
g.e.d.
A
Cn _ - 1(X = aj)
“ |2 (x=b,)
m
A: aj Cn Cm
n:m
1<m<n m,n <20
A




19

| =

}:ia-+1)==3-19-20-21::2660
i=1
a, b, a, 2135
b, 525
0<m <n Cn(X) = Cm(X) =Yy (1_Cn7m (X))(2y2 _1_Cn7m(x)) =0
proof
p>q 2CC,=C,,+C,
(c,—C,) :cﬁ—qum+c;
_14GC,, (Gt Cy )+ L14Co
2
C C,
:1—}_% (Cn+m +C >
_1+Cn+an m (Cn+m +Cn—m)
=1- Cn+m - Cn—m (l_ Cn+m>

= (1_ Coim )(1_ C”*m>

2(1—CnCm):2—2CC
—2-(CotC)
:<1_Cn+m) ( C
1-C,.,)

")

x(1-C, ,)=2(1-C,C,)(1-C, )

—2-2C.C,

X(l Cn m)_{l Cn+m>+
=(1-C,,,)(1-C,.

-2C,_.,+2C,_,CC

n—-m=n=—m

nm}lc )
+(1-C, )

=(C,—C,) +(1- Cnm)

=C?

~2C.C,+C2+1-2C,  +C?




c:-2c, ,CC,+C:=1-C?,
c0s” NX — 2¢0s(N — mM)X COS NX COS MX -+ cos” mx = 1— cos?(n —m)x
COSNX = COSMX = Y

y? —2y?cos(n —m)x+ y* =1—cos’(n—m)x
2y? —2y?cos(n—m)x—1+cos’(n—m)x =0
2y?(1—cos(n —m)x) — (14 cos(n —m)x)(L—cos(n —m)x) =0
(2y? —1——cos(n —m)x)(L—cos(n—m)x) =0

C, C,

X=Db,

C, . (b,)=cos(n— m)% =c0s2kr =1

a;

2y? —1=cos(n—m)x

y:icosq—zx,(n—m:q)

Fig.2 y:icosq—zx(og x<m-1<y<lq=1234)

Fig.2 g=12,34 Fig.1(b)
a, q (9=212,3,4)



q=1 200 q=2 207 q=3 187 q=4 184
1<m<n<20 g>4

A
Fig.3(a) (b) S, (X, y) — (x,cos ' y) = (x,y") Fig.1(a) (b)
A B, ={(xy)0<x<m0<y' <~}
Mm i \'t«ff‘e i M 1
T
| w\'& b,
P
b :\, e H W‘i
0‘!’*%{?‘ i
; W%Mm ““WM&W_
@) (b) |
Fig.3 y'=cos "(cosnx)(0< x<m,0<y'<)

(@an=132..5 (b)n=12,..,20

S 1 (X,C.(x)) — (x,U,(x))
y'=U,(x) y=C,(x)

kn (kD
n n

(k=0,1..,n-1)

y'=U,(x)=cos*(C,(x))
=cos '(cos nx)
nx —km, (k : even)
:{—nx+(k+nw(k:NM)
y'=U,(x) B. n



y'=U,(x) (0,0 y=C,(x) (0.1

y'=U,(x) y=C,(X) A
C,(x)
B A
L:(xy)—=(xy)  y'=Uyx)
2.
y:l—;y
Fig.4(a) (b) L, Fig.3(a) (b)
i‘"'l( M’u“‘ .'\;J-a(\t" ‘n‘ e
"n u' e
fom i
Mml.’ ‘ {'“M“y | "":‘?\“' I 1| ‘h‘
I R R
0‘0 ,v\;%%‘s!... |
L 0“’ i
i \' ‘,,M
IH‘ M M‘N “ ‘“h W J
@

()
Figd vy zl—gcosfl(cos nX)(0<x<m,—-1<y<])
s

(@an=12,..,5 (b)n=1L12..,20
y=u,(x)=1-2U,(x)

1— g(nx — k), (k :even)
T

12 (Cix+ (K + 1)), (k - odd)

_2MX 4ok 1, (k - even)
T
2% _ 2k 41,k : oddl)
T

LS :(xC(x)—(xu,(x) A A



0<m<n u,(x)=u,(x)
c — 2j7T,

Y n4m

~ 2km
n—m

n+m]

dy

proof

—%—f— 2k +1, (k : even)

™

20X _ 2k 1), (k - odd)
T

u, (x) =

—@+2k'+1, (k':even)
0

2MX 2k 1), (k' odd)
T

Uy, (X) =

k k' even

L P LS

T T
L m(k—k)
n—m
_ AT oi—k—kY)
n—m

k k' odd
20X k1) = 2™ 2k 1)
i T
L 7lk=k)
n—m
_ AT ik —k))
n—m
k even k' odd
2nx 2mx ,
A ok 1= 2k
T T
k)
n-+m




_ AT ok
n-+m
k odd k' even
2nx 2mx .
k) =—"— 42kt
T m
X_w&+k4n
n-+m
2w . .
n-+m
g.e.d.
c, n(c;) d, n(dy)
Table 2
Table2 B,
n(c;) n(dy) n(c;)+n(d,)
n m -
n+m+1 n m—l n
gven 2 2
n m —
n+m_|_1 n m—l n
odd 2 2
n even - —m-—
n+m 1+1 n—m-1 n
m odd 2 2
n odd — —m-—
n+m 1+1 n—m-1 n
m even 2 2
(c;u,(c)) A ¢, &n u, =m
um
proof
un um C]
k2N g
n-+m




2jm

k'< <k'+1
n+m
k k'
k+k'<2j<k+k'+2
k+k'
g.e.d.
un um
A y:Un(X):Um(X) (Cj!un(cj))

y :1—£cosl[cos
T

_3[(n —2m)x — kw] (K : even)

™

(n—m)x]
2

1—3[—@+(k +1)7r],(k - odd)
~ (h—m)x
(n—m)x

+2k 41, (k :even)

—(2k +1), (k : odd)

Fig.5 Fig.4(b)

™

Fig5 y= i11—£cos‘l[cosq—;]}(0 <x<m-1<y<19=1234)
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{sinnx}

Fig.6(a) (b)
y =S, (X)=sinnx

A={(xy)0<x<m-1<y<1

| :\““\\\‘« | ”
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dl" 'f i

0
il
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(@n=12,..5 (b)n=1L2..,20

A

@)
Figs y=sinnx(0<x<m,—-1<y<
Fig.6(b)
Sm Sn
1<m<n S, (X)—S,(x)

sinnx—sinmx =20

n+m_ . n—m

2c0s Xsin x=0
0<x<m
a_:(21—|—1)7r’ o
n-+m
b= 2T k=1..
n—m
a b,

n+m—1

Table 1
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mS,(a;)+nS,(a;)=0
mS, (b,)—nS,, (b) =0

proof
mS,(a;)+nS,(a;) = m[ncosw]+n[mcosw]
n+m n+m
—mn [COS (2j+Dmn +cos (2] +1)7rm]
n+m n+m
 omncos Qj+D)r cos 2j+Dm(n—m)
2(n+m)
=0
mS, (b, )—nS, ()= m[n cos ka]— n[m cos Zkﬁm]
n—m n—m
[ 2kmn 2k7rm]
= mn|cos —Cos
n—m n—m
:—Zmnsinwsin k7
n—m
=0
g.e.d.
(x,S,(x)) A S, S,
S,(X)S,(x) =0 A
n
s T
S |n
™ |—=,(x=b)
m
A% a’] Sn Sm
n:m
0<m<n S,(X)=S,(x)=y (1-C, ,(0))(2y’-1-C, ,(x))=0
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proof

Fig.7

sin’ nx — 2 cos(n — m)xsin nxsin mx +sin® mx = 1—cos”(n — m)x

sinnx=sinmx=y
y? —2y?cos(n —m)x+ y* =1—cos’(n—m)x
2y? —2y?cos(n—m)x—1+cos’(n—m)x =0

2y?(1—cos(n —m)x) — (14 cos(n —m)x)(L—cos(n —m)x) =0

(2y® —1——cos(n —m)x)(L—cos(n—m)x) =0
S, S
X=0Db,

m

C, ,(b,)=cos(n—m) n2k7rrn =cos2km =1

a;

2y? —1=cos(n —m)x

y:icosq—zx,(n—m:q)

Fig.7 y:icos%(og x<m—-1<y<109=12,34)

q=12,34 Fig.6(b)

S, (%) Sp(¥) q
1<m<n<20 g>4
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g.e.d.

(9=12,3,4)



A

Fig.8(a) (b) S, (% y) = (%sinTty) = (X, Fig.6(a) (b)

A {(x y)

0<x<m, ——§y <
2 2

T a i
W M“" 'w "'",f"u, i ‘4 il ';.‘0"""."’"'\
\ ! 1 i i
“\"’:r '0;'"’ '}“ ‘V' \“ i ’"\ | }1"-‘7 (
\\”'mn ‘h'r “ _H-\H il
\.N\" ‘ l“\f !' ""'.,",‘ ‘ }W

|<. N i ' ‘\ ‘ ﬁl 1\;; i , "‘I'.m';?'*

€Y ()
Fig.8 y'=sin"'(sinnx) 0<X<7r—E§y < 2]
(@an=132..5 (b)n=12,..,20

S, (%, S,(x)) — (x,V, (X))
y'=V,(x) y=S,(x)

M<X<(2k2;l)ﬂ—’(k:l,2,...,n—1)
n

2n -
y'=V,(X) B, n
n B,
M(_l ’’’’’ n_l)
2n
n even

y' =V, (x)=sin"*(S,(x))

=sin~*(sin nx)
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nx,[Og xgl]
2n

—nx+ Kk, (k :0dd)

nx — Kk, (k : even)

2n—-Dx
2n

—nx-|—n7r,[ ngw]

n odd
y'=V,(x) =sin"(S,(x))
=sin~*(sin nx)

nx,[Og xgi]
2n

—nx + Kk, (k :0dd)
nx — Kk, (k : even)

nx—nw,[nggw]
| 2n
B, A
L (% y)— (X, y) y' =V, (x)
yz—%f
Fig.9(a) (b) L. Fig.8() (b)
mm fi Wi‘h
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Fig.9 y= —Esin’l(sin nX)(0< x<m—1<y<])
s

(@n=12,..,5 (b)n=12,..,20
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Y =4,(0 =2V, ()

g(—nx-l— k), (k : even)
T
E(nx—k7r),(k :0dd)

_ 2™ ok (k - even)
T

20X ok (k - odd)

™

LS 1 (xS, (x)) = (x. v, (x)) A A

0<m<n v, (x)=v,(x)

c _@j+Dr . n+m—1]
e )
g, — 2k K—1.. n—m—l]
n—m 2
proof
—%+2k,(k:even)
n=1, "
2k, (k : odd)
s
—ﬂ+2k',(k':even)
n(X)=1, g
A2k, (k" odd)
0
k k' even
_2MX o 2 o
7T T
X:w(k—k')
n—m

16




2im

_ AT 2i—k—k)
n—m
k k' odd
X o 2MX
T Vs
L m(k—k)
n—m
_ AT ik —k))
n—m
k even k' odd
JAMX o= 2MX g
m T
L lkk)
n+4m
= @IEDT o=k k)
n+m
k odd k' even
20X g — 2 oy
s ™
L lkk)
~n+4m
_@IEDT ik
n+m
g.e.d.
C; d, Table 2
(levn(cj)) A C; +n A
+m Vi, v, Vi,
A y =V, (X) =V, (X) (c;.v,(c))
yzgsin‘l[cos(n_m)x]
s 2
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-
7'('
2

™

2

(n—m)x
™
_ (h—m)x

Fig.9(b)

Fig.10

(n—m)x

[_ (n—m)x
2

kw] ,(k :even)

+k7r],(k :0dd)

— 2k, (k :even)

+ 2k, (k : 0dd)

Fig.10 y= igsinl[cosq—zx] 0<x<m-1<y<19=1234)
m

nx
—+C0S—
y 2

T.J.Rivlin Chebyshev Polynomials Wiley-Interscience.

{cosnx} (n=1,2,3,....)
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{sinnx} (n=1,2,3,....)



a. C;
Table A n(a;) n(c;) @<m<n<20)

m 2 3 456 7 8 9 10 11 12 13 14 15 16 17 18 19 20
1 2 3344556 6 7 7 8 8 9 9 10 10 11 11
2 3445566 7 7 8 8 9 10 10 11 11 12
3 4 556 6 7 7 8 8 9 10 10 11 11 12 12
4 56 6 77 8 8 9 9 10 10 11 11 12 12 13
5 6 7 78 8 9 9 10 10 11 11 12 12 13 13
6 7 88 9 9 10 10 11 11 12 12 13 13 14
7 8 9 9 10 10 11 11 12 12 13 13 14 14
8 9 10 10 11 11 12 12 13 13 14 14 15
9 10 11 11 12 12 13 13 14 14 15 15

10 11 12 12 13 13 14 14 15 15 16

11 12 13 13 14 14 15 15 16 16

12 13 14 14 15 15 16 16 17

13 14 15 15 16 16 17 17

14 15 16 16 17 17 18
15 16 17 17 18 18
16 17 18 18 19
17 18 19 19
18 19 20
19 20

19



n(d,) @<m<n<20)

n(by)

Table B

17 18 19 20

2 3456 7 8 9 10 11 12 13 14 15 16

00112 2 33

4

4
3
3
2
2

00112 23

0 011 2 2

0 011 2

0 011

n

m

1

10
11
12
13
14
15
16
17
18
19

20



n(@) a,

TableC n(q) (h—m=q 1<m<n<20)

q n(q)
1 209
2 207
3 187
4 184
""""" 5 | 165
6 161
7 143
8 138
9 121
10 115
11 99
12 92
13 77
14 69
15 55
16 46
17 33
18 23
19 11

21



